QUESTION BANK

OBIJECTIVE QUESTIONS

ORGANIC CHEMISTRY (3320501) / SEM-2

SR.
QUESTION BTL | CO

NO.
Ethane is an example of
AL Cyclic compound B- Heterocyclic compound
_ e Acyclic compound D. None of them

1 8531 A o Gels3 B,
AL 2U(S21 20wt B. (A2 (321 =20t
. 22521 A2yt D. Gu2uiz2l ;AZ2 Sl
The general formula of alkane is
A C.Hz, B. C.Hzn. 2
= C . Ho, > D. None of them

2 RUUCS o] LMLl 3 B,
AL o B. C.H,,.2
. C.H., - o Gu=21isll F|AZ21 S
IUPAC name of CH,=CH-CH,-CH,; is
A. 1-butene B. 2-butene
C. 3-butene D. 4-butene

3 i
CH,=CH-CH,-CH, < IUPAC =l 8.
A, - oelat B. - el
Cc. 3- 623l D. ¥- 63l
1-pentanol and 2-pentancl are the examples of
A Metamerism B. Tautomerism
C. Chain isomerism D. Position isomerism

4 A- Qoallct A 2-Uoallat s21U Usla{l Auesdl 20 B.
o Nt IosL B. UA3IUSL
c. QJ_IJ{C1L AUHUS S L D. ULl A HUEeS AU
Tartaric acid shows
AL Optical isomerism B. Chain isomerism

5 L Geometrical isomerism D. Position isomerism
2li2Rs AR s s2 usa{l AAuesaL e2la B.
AL ‘-,leﬂﬂal vUHHUS S AL B. %‘lHC’lL UHYUS S AL
. clAlAs Auesau D. WLt A US S A
Alkanes differ in composition from one another by
A =CH B. -CH,
= -NH D -CH.

6 UUCE A 20w =llail ol A scllest a2 Al ASlacl 8.
A =CH B. ~-CH.
o -NH D. -CH,
The structural formula of Ethene is
A CH .~ CHl, B. CH_=CH,.
C. CH=CH D. None of them

7 gSefloto] olauxgllal 4=t .
A CH,L,-CH, B. CH,=CH.
= CH=CH s Gu=niz2(l AB=21 AL




Propanal & Propanone are the example of

AL Metamerism B. Functional group isomerism
| == Position isomerism D. Chain isomerism
8 WA cAlGt 24 Ul QeAlet 2=l GELSL B.
A. NetAlos B. Gausllat- Ayge A ue s
= L2Ulel AHUESeS A & %I’U-lC‘lL LU HUe S A
The unsaturated hydrocarbon contains
AL Single bond B. Double bond
. Triple bond D. Double bond & triple bond
9 VLA LA SIBISsLel=A 2] U/ANA B.
A. As ol B. A olw
& QL ol D. AL olel M=l 2RL ol
The saturated hydrocarbon is also called
AL Alkyne B. Alkene
L &= Alkane D. None of them
10 Rl sLssslsiolaAal Rl sd&alad 8.
A LULCESLES =L B. 2Es et
e ALCE oA D. Guui2l ;AZ2 AS
The another name of dimethyl ketone is
A Acetone B Butanone
=N Methyl ethyl ketone B None of them
11 s1es Rausscat (33lete] olley =L .
A LAR@A 2= B. o2y S Al
"o ARaussc ssaussct (32l B Gu=uial ;:AZ21 S
n-pentane & iso-pentane are example of
A Chain isomerism B- Position isomerism
. Metamerism D. Tautomerism
12
n-Uotel el AHUSUL Qoel 2lleil GELSAVU B.
A. UL AHUS S B. LUl UHYUESS AL
Cc. RadlosM D. AA3USAL
Ethanal & vinyl alcohol are example of
A Chain isomerism B. Position isomerism
C. Metamerism D. Tautomerism
13 SA AL A (AU HMIESLElE 2=l GELS2QL D.
A QIMC'tL HUS S AL B. IUlel M HUSS AL
C. Nt Aos DL AUCL3IUSL
Cis -2-butene and trans-2-butene are example of which type of isomerism
AL Chain isomerism B. Geometrical isomerism
14 <. Optical isomerism B None of them
Na-2-0248lad 24 2lot-2-06248lad 58 UMHUSSAl=ll GELSQ BD.
A. AL A USSAL B. AlA(As AHuesU
G ustel (Baullat Aue sl D. Guuiell :AZ2 ALl
IUPAC name of CH_=CH-CH,; is
AL Pent-1-ene B. But-1-ene
= Prop-1-ene B But-2-ene
15 CH.=CH-CH, =i IUPAC UM =2
A Qoa-1-85=1 B. o2y -1-85<t
& Ulu-1-851 B w2y2 -2 -85t
-CONH, functional group indicate
A Amide B: Amine
S Nitro B Cyanide
16 -CONH, (Bau2llact Ays 2] e &.
AL AL S B. VA LS =
= =ALesel D. UL2U=ALES




Which of the following is an example of sublimate substance

AL Naphthalene B. Benzene
C. Anthracene D. All of these
17 A Ao Hiell 52 Gecl Al uelsied GelsQU B.
A. sl@cllst B. Aol
c. BA-aullst D LUACU ol =
Aniline is purified by
AL Simple distillation B. Fractional distillation
= Steam distillation D. Vaccum distillation
18 ARl giells2el 1 «1A=u Al s8 Uueuld aular B.
A. AUe RA=iest B. (Qeuollar RAr=iest
& aRilo [Ar=1leat D. Aszxyy [AR2iest
A solid substance on heating is direactly converted into vapour without passing
through the liquid state. this process is called
A Distillation B. Sublimation
= Crystallization D. None of them
19 stole{ls UELSElal DR 523 cll al UalSlal cle A 1l aley 2a3uHl S2auzt 8. 24
ulEa2u sS&ala B.
A (FAr=ie ot B. Geclulcteat
& rsl2gls=23L D. Gu= izl }|AAZ=2 &L
The mixture of acetone & ethanol is separated by
AL Simple distillation B Fractional distillation
. Sublimation D. Crystallization
20 AR S A 1A SsA A=l RAaietaL e @el 4oL 53 2ustaL .
r- 3 AUle (RA=ie=t B. Qeuollar RA=iest
. Gecl Ut D rs2sls=21L
metal is used in the preparation of Lassaigne’s solution
A Na B. K
C. Al B B
21 ARAB A GlARl tlellddl HIZ S8 Sl U2 BD.
A Na B: K
C. Al D B
In the estimation of Carbon & Hydrogen CO, is absorbed in
A Ccuso, B. Cacl,
, O 50 22 KOH D. None of them
22 slolol Al slssalwatall WRriust e2@A2ust co, i lau Ml A B.
A Cuso, B. CcacCl,
C. 50 % KOH D. Guuiell ;|AZ2 &L
Duma’s method is used for the estimation of
A Halogen B. S
, - P D. N
23 sy ML ueala Sl WRHiUust 12 Uil B
AL 2ot B. s
C. P D. N
In kjeldahl’s method evolved nitrogen is converted into
A Sodium sulphate B. Ammonium sulphate
=l Ferrous sulphate s Copper sulphate
24 wesleall uraulad e2@ 21 Gauz 2l susSglawel L ZRau=a B.
A A 21 AcEe B. LN HA=201 ke
< S AUCH2S D sSluR 2Ucse
In the estimation of sulphur is added in mother liquid
A. BasSoO, B. Ba(NO,),
C. BacCl., D. Both B & C
25 A_UCsoll UR UL o aatagiHd GRRalMl HA B.
A. BasSoO, B. Ba(NO.).

C. BacCl, D- B <2l C oial




In caris™ method the temperature is maintain at about

A 130-180°C B. 100-150° C
e, 180-200° C D. 200-250°C
26 32t ueaf@Auil wruwust stoaall il LA B
A 1320-180° C B. 100-150° C
s 180-200° C D. 200-250°C
The boiling point of ethanol is
A el @ B. 155° C
C. 120° C D. r8° C
27 eSA Ao Gescatsialle .
A P gl o B. 155°C
C- 120°C D. F8oC
Acetic acid react with sodium metal gives
AL Sodium styarate B. Sodium tartarate
C. Sodium acetate D. None of them
28 AR s AR sl A7 211 wuldg 20D uls2u aane(l A B
A. AUMB a2 Elaze B. A_EB2ar a28ze
o ANMB2a ARz D. Guui2l ;AZ21 A&
The general formula of Grignard reagent is
A R(Mg)Br B. R(Mn)Br
C. R(Na)Br D R(Fe)Br
29 Blocls uld2aase] UMl A D,
A R(Mg)Br B. R(Mn)Br
C. R{(Na)Br D R(Fe)Br
The formula of Oxalic acid is
A (COOH), B. RCOOH
[ o= (CHO), D. None of them
30 2AsBclls AR s 1= BD.
A (COOH). B. RCOOH
& (CHO). i Guui2l ;AZ2 S
The first member of aliphatic compound is
AL Fatty acid B. Acetic acid
C. Formic acid D. Amino acid
31 A35Ss 2w ollall Ul et D
A. %2 ARs B. AREs ARs
= sIXs A@RAs D ARA -0 ARAs
Acetylene reacts with H,.,SO, giving
AL Ethanol B. Acetaldehyde
C. Acetone D. None of them
32 AN A=l H.so, 2L ulzau2ll Alues G .
A SA NG B. AR zLcS\sisss
-1 FARA 2= D. Guuigll ;AB2 &L
Ethyl amine reacts with nitrous acid forming
AL Ethyl cyanide B. Ethanol
=s Nitro ethane D. Nitro methane
33 saussct AMUSoA=Al sussgx ARs W A=A ulzauzll AU 1 B.
A BSAULSCL J}UL2UALE S B. S3A A
[s-8 ALSSL 53 D. -ss2l A A=
40722 of formaldehyde in water is known as
A Formic acid B. Formalin
C. Format D. None of them
34 40x% sllcSlalsssell alaRLal s&alaL B.
A sI6Ts ARAs B. S cl=t
= sz D. Gu2ui2l |32 S




The boiling point of ethyl acetate is

A BFoC B. 83°cCc
C- T dhg B, 98° C
35 saussct AR2 2o Gscisialls D
A 8SroC B. 33°C
C. i dug O D 98° C
The general formula of carboxylic acid is
AL C. H,, ..CONH, B. Cc . H,,.,COO
C. C.H,,.,COOH D. None of them
36 stallsélclls AR se] [AUHL=2L YA &.
.18 CiHL, . CONHL B. CHL . OO0
el c.H,,..,COOH D Gu22uie(l ;AZ2 8
Cyano group is also called
AL Amide B. Amino
L @=F Amine Dy, Nitrile
37 20 Baulla 2igs ollest U 2ALoHL2L B
A A ss B. AA@A -0
8 A 1L St - SALESSLESCGL
The melting point of benzoic acid is
AL 121° C B. 199° C
= 150° C D. 144° C
38 AoBless FARMsa dlctstellg B,
AL 1212C B. 199°C
e 150° C By 144° C
On alkylation process. benzene gives toluene. This process is known as
A Halogenation B. Colbe reaction
(o Friedel-craft reaction B None of them
39 CsIssA el UlEZa21l alzl Aoofletmizfl 2leaysset olal .24 uldau AZS
2oL B
A Scllemalelet B. sl ulz=2u
= glsci- sise uld2u By Gu=uiell |AZ2 A8
Which compound gives Diazotisation reaction
A Aniline B. Benzene
, el Nitrobenzene D. Phenol
40 stAnletssBelet Ulsaul «lAsuriefl s20 versl 41 B.
A A lcll=t B. Aot
G ALsSSLA Sl D. (3=l
The boiling point of Benzaldehyde is
A Ire®c B. 198° C
, sl 150°C D. 144° C
41 AcnlcsSlelssse] Gesctaiclle =8
A 179 C B. 198° C
=l 1S50°C D. 144° C
Which catalyst use in friedel craft reaction
AL CH,CI B. Anhy. AICI,
= Both A & B D- None of them
42 glsct- sise uBa2unl s GElus auRla B.
A CH,CI B. Reson AlCH,
o A & B olal D Guuiell ;AZ2 S
The formula of styrene is
B C.H.-CH=CH. B. C.H-CH
= CHL-CHLCH, D. CH—~OH
43 L2 Flated Y=L .
A C.,H.-CH=CH, B. - CHL

e C H.-CH_.CH, D. C . H.-OH




On oxidation . toluene gives

A Benzaldehyde B. Benzoic acid
C. Benzene D. Aniline
44 2leclotatl 20513 2112l 2] ol &,
AL AocoslcsSlelsss B. Acodless AR s
c. A oSl D. A=
On reduction , nitrobenzene gives
A Benzoic acid B. Aniline
= Benzene D. None of them
45 AUSZLAOSAcAL Ilss2pnaell 2] vl B
A A-sosless AR s B. A=A cll=
& Acoflet 5. Gu=2niel ;AZ2 S
Process in which —CH,; group is introduced in the molecule of organic compound
A Nitration B. Alkylation
. Sulphonation D. Halogenation
46 58 uealaadl siolells AahwotaAl AQYHL —CH, AUHE ELHE SR 21A B.
A. ALsSS elet B. BLCSLSA L
ol AUcsl A2 D. Sl aletst
State of pure phenol is
A Solid B. Liquid
. Gas D. None of them
47 21eel (B0t Y AR2ULHL S22 B
A et B. Sl
" <=y D Gu=2Mi2(l FAZ21 =S
In Dow process, chlorobenzene is converted into
A Aniline B. Phenol
48 SIG uld2uHl sAlRNA O A L 3UlAR au2a B,
A, Aellcllet B. (3t
C. QAoosss ARs D. RAcoilet
On Cyclization . n—hexane gives
AL Cyclohexane B. Benzene
| o=l Both A & B D. Benzoic acid
49 N-2saslel 2Slais201=0 ulE=2u=20 s{lwues G BB,
R AU2AASAAS s DA B. AooSat
= A L2 B olal =3 Aoosless 2AR@s
Phenol reacts with PCIl; gives product
A lodobenzene B. Nitrobenzene
= Bromobenzene D. chlorobenzene
50 (Zlci={l Pcl, 2=l ulE2u=0l Alu=s 1 B.
AL LAL2A SLA DS = B. ALSSLA OS5 =
"2 AN A DS D. SCU A A5 =
Trinitro Toluene is used as
AL Drugs B. Explosives
. Perfume D. All of the above
51 SL8S=LeSSl SlcyeS=t A HIL U=l B,
A € a2l B. Qzxsles1
= usyM D. LUACGU L=l =
Oluem is
A SO, B. H,.,sSO,
S SO;+H., SO, D. None of them
52 2N@A =204 A =Y
A SO, B. H.SO.
e SO,+H. SO, D. Gu=21i2l FAZ21 S
Nitration is
A Exothermic reaction B. Endothermic reaction
il Both A & B D. None of them
53 SALESS 2L U= .
A Guiruelles B. G ualus

Lol A 2l B ol D. Gu=2xi2l IAB24 =S




On nitration of nitrobenzene gives

A Benzoic acid B. Aniline
C. m-dinitroben=zene D. None of them
54 AL SLA O  oAod AL 2= S L L B
AL A-osless ARs B. LAl
o= Mm-Sl ssSlA oSl D. Gu=2ui2l ;:|AZ21 AEL
Process in which —NO, group is introduced in the molecule of organic compound
A Nitration B. Alkylation
| &= Sulphonation D. Halogenation
55 s85 ueaif@ell sicle{ls VaAosetell HRQMHIL —NO, JUHE ELHE SauHl 20A B
A AlsSS 2t B. BULES LA
T ;UCsLA2L=t D Sl alelet
Nitration of phenol in presence of fuming HNO,; gives
A TINT B. Picric acid
= Pp—nitro phenol D. None of them
56 (Zllct=tt s23- (ot HNO3 <l stx3ll cussE2istell 2] G B.
A TNT B. RAGEGs aAa@As
<. p-cussZlUE=0lct D. Gu=21i2(l F;|AZ=21 5L
unit process in which H_.SO, working as a catalyst
A Sulphonation B. Nitration
Halogenation D. Alkylation
57 AsH rea@AHl Ho.SO, GE€lus 433 s120 s> 8.
A | CslA2 = B. SALEST 2=t
L~ Sclle A2t D. RAULCS LESAL 2Lt
is not a unit process
A Nitration B._ Sulphonation
. Reduction D. Halogenation
58 = A= ai=201 As1L Uil st=0.
A ALESS 2L =9 sl
. Flss=2at D Scillesy L2t
ABS is
AL Anionic detergent B. Cationic detergent
C. Non-ionic detergent D. Biosoft detergent
59 ABS A j Gele=aL
I | S213L .
A Aou2llAs Bewxea B. Saz20As Rersce
"o (Ast- za20As (Baossa D. 2l se B
Trisaccharides contain three molecules of
AL Disaccharides B Polysaccharides
C. Monosaccharides D. Tetrasaccharides
60 21esA 3 LesSs Al PAURL ARIAL YU/ A B
AL sSL2AABUSS B. WclAaswsss
. MN-AAB 2SS D S21AEBAsSS
Cellulose is an example of
A Non-suger B. Suger
. Oligosaccharides D. Polysaccharides
61 Aczyyclos A o] GElEWL B.
A. ollot- 2152 B. A5
C LA NASASS D. WcllAazusss
The general formula of carbohydrates is
A C. . (H,O), B. C..(H,O),.,
C. C. (H,0O),, D. None of them
62 slellelssdade] A2 2 2.
A C. . (H;O), B. CLFLO).,
G C.(H,0),, D. Guuiell B2 AL
Sucrose is the example of
A Trisaccharide B. Tetrasaccharide
&= Disaccharide D. Monosaccharide
63 2slos o] Gele3L B,
A SLI2AAZUBS B. 22ABAUASS

. sL2LABUES D. WAABAUSS




Fluorescein is an example of

A Phthalein dye B. Nitro dye

| = Nitroso dye D. Azo dye
64 scl22N=1 = o Gele21L B.
A Aclet 2ous B. =ALESSL 2OoLs
" el AU SO 2oLs D A3 20oLs
Naphthol —AS is an example of
AL Azoic dyes B. Nitro dyes
C. Acid dyes D. Vat dyes
65 Arellci- AsS A i GeleaL B.
=4 |
A A Bless 201Ls B. ALsSSL 2oLS
@ ARAs 2os D. Az WS
Chromophore + Auxochrome =
AL Colour B. Dyes
. Pigment D. None of them
66 SLDA2 + s =
A =221 B. 2oLs
< acls D. Gu=22mi2(l A =21 &L
Which of the following is an example of auxochromic group
A -CHO B. -OH
C. -NO = -NO2
67 A= AL s=210 2AsAs10s 1ye B, 2
A -CHO B. -OH
. -NO D. -NO2
Which of the following is an example of chromophoric group
A -CO B. -SH
C. -NHZ2 D. -OH
68 AN VE 520 SLANAs Wys B, 2
A -CO B. -SH
= -NH2 D. -OH
The unsaturated groups that are responsible for colour of organic compounds
are called as
AL Chromophore B. Chromogen
e Auxochrome D. Dye
69 stolo{ls 2lwatlladl 221 M2 FAHELR HMJALQ L 1S AZE A
B.
A sLalsl? B. slallox=t
C. s S D. ERTES
The compound containing the chromophoric group is called
A. Chromophores B. Auxochromes
=18 Chromogen B. None of them
70 SLHLSEls AUHS URA A A2wetal 2] sScua B.
A, sL08R B. 2AsJALS\ L
C. sldlewet D. Guuiall A3 =18l
The compounds obtained from plants and animals,living organism,were called
71 A. | Saturated compounds B. | Organic compounds
C. [ Inorganic compounds D. [ unsaturated compounds
Methane is an example of
72 A. | Cyclic compound B. | Heterocyclic compound
C. | Closed Chain compound D. | Open chain compound

73




Alkanes differ in composition from one another by

A. | -NHz B. | =CH
C. | -CH2 D. [ None of them
The structural formula of ethyne is
74 A. | CH3-CH3 CH2=CH:>
C. | CH=CH D. | None of them
The isomers having the same molecular formula but differing in the functional group
are called
75 A. | Position isomerism metamerism
C. | Chain isomerism D. | Functional isomerism
n-butane & iso- butane are the example of
76 A. | metamerism B. | Functional isomerism
C. | Position isomerism D. [ Chain isomerism
The isomers having the same molecular formula but differing in arrangement of atoms
space are called
77 A. | stereo isomerism structural isomerism
C. | Both of them D. | None of them
Geometrical isomerism is also called
78 A. | D-1 isomerism B. | Dextro &leave isomerism
C. | Cis-Trans isomerism D. | None of them
In crystallization method,a hot water funnel is surrouned by containing hot
water
79 A. | Copper jacket Dry filter paper
C. | Both (A) &(B) D. | None of them
80

After the purification crystals are dried over




A. | Filter paper

Clay plate

C. | Porous plate

None of them

81

Some organic compounds are decomposed at their boiling point at atmospheric
pressure,these types of substances are purified by

A. | Fractional distillation B. | simple distillation
C. | sublimation D. [ vaccume distillation
Liquids slightly immiscible with water,voletile in steam & possess high vapour

pressure are purified by

82 A. | steam distillation vaccume distillation
C. | simple distillation D. | Fractional distillation
Aniline is purified by

83 A. | Fractional distillation B. | simple distillation
C. | steam distillation vaccume distillation
For the detection of N,S,P&halogen,first of all prepare

84 A. | Lassaigne solution B. [ Cupric oxide solution
C. | Fresh FeSOa solution D. [ Fresh FeCls solution
Duma’s method is used for the estimation of

35 A. | Nitrogen B. | sulphur
C. | phosphorous D. | halogen
Kjeldahl’s method used for the estimation of

36 A. | Carbon &hydrogen B. | halogen
C. | sulphur D. [ Nitrogen
In Kjeldahl’s method nitrogen is converted into

87 A. | (NH4)2S0O4 B. [ Na2SO4
C. | FeSO4 D. | Cu20

88




Carius method is used for the estimation of

A. | nitrogen

B.

Carbon & hydrogen

C. | sulphur

D.

None of them

In Carius method Carius tube is put in

89 A. | Copper furnace B. | aluminium furnace
C. | Iron furnace D. | None of them
In the estimation of sulphur, is added in mother liquid
90 A. | BaSO4 Ba(NO3)2
C. | BaClz D. | Both (a) & (b)
In Carius method nitric acid is used
91 A. | dilute cocentrated
C. | fuming D. | oleum
The saturated hydrocarbon contains
92 A. | Double bond single bond
C. | triple bond D. | single bond & Double bond
The unsaturated hydrocarbon contains
93 A. | Double bond B. | single bond
C. | Double bond & triple bond | D. | single bond & Double bond
The general formula of saturated hydrocarbon is
94 A. CnHo2n+2 B. CnH2n-2
C. CnHo2n D. CnH2n-1
The general formula of unsaturated hydrocarbon is
95 A. CnHo2n B. CnHon2
C. | Both (A) &(B) D. | None of them




The saturated hydrocarbon is also called

96 A. | alkane B. | alkene
C. | alkyne D. | None of them
The another name of alkane is
97 A. | paraffins B. | alkene
C. | alkyne D. | None of them
Ethanol on oxidation in presence of Na2Cr207 & dilute H2SO4 gives
98 A. | formaldehyde B | Ethyl acetate
C. | acetaldehyde D | acetone
On oxidation of acetaldehyde gives
99 A. | Formic acid B. | Acetic acid
C. | Amino acid D. | None of them
The another name of acetone is
100 A. | Methyl ethyl ketone B. | ethyl Methyl ketone
C. | Dimethyl ketone D. | Diethyl ketone
On oxidation of acetone gives
101 A. | Acetic acid B. [ acetaldehyde
C. | Both (A) &(B) D. | None of them
Ethanol react with acetic acid in presence of cocentrated H2SO4 forming
102 A. | Ethyl acetate B. | Methyl acetate
C. | Both (A) &(B) D. | None of them
Acitic acid react with sodium metal gives
103

A. | Sodium styarate B. | Sodium acetate

C. | Sodium tartarate D. | None of them




On hydrolysis of ethyl acetate gives

104 A. | Acetic acid B. | Ethanol
C. | Both (A) &(B) D. | None of them
Ethanol reacts with NH3 forming

105 A. | Ethyl amine Nitro ethane
C. | Ethyl nitrite D. [ None of them
Ethyl iodide reacts with NH3 forming

106 A. | Ethyl amine B. | Ethyl nitrite
C. | Ethyl cyanide D. [ None of them
Benzene gives

107 A. | Adition reaction B. [ substitution reaction
C. | Both (A) &(B) D. | None of them
On hydrogenation,benzenz reacts in the presence of Ni catalyst giving

108 A. | n-hexane B. [ n-heptane
C. | hexene C. | Cyclo hexane
Fridal craft reaction is carried out with

109 A. | CHsCl B. | Anhydrous AICl3
C. | Both (A) &(B) D. | None of them
The formula of toluene is

110 A. | CsHs-OH CesHs-CH3
C. | CsHs-NH2 D. | CeHs
On oxidation,toluene gives

111
A. | Carbon dioxide B. [ benzaldehyde




C. | Benzoic acid D. [ None of them
On reduction,nitro benzene gives
112 A. | Benzoic acid m-dinitro benzene
C. | aniline D. [ None of them
Phenol reacts with zinc dust forming
113 A. | Cyclo hexane B. | Chloro benzene
C. | toluene D. | benzene
44. | Phenol reacts with fuming HNO3 giving
114 | | A. | Acetic acid B. | Picric acid
C. | Benzoic acid D. [ Amino acid
On oxidation,benzaldehyde converted into
115 A. | Benzoic acid B. | Picric acid
C. | toluene D. | Acetic acid
Sugars which cannot be hydrolyzed into smaller molecules are called
116 A. | monosaccharide B. [ disaccharide
C. | trisaccharide D. | polysaccharide
The general formula of monosaccharide is
117 A. CnH200On+1 B. CnH200n
C. CnH20-10n D. Cn-1H200n
Disaccharide contain two molecules of
118 | | A. | monosaccharide B. | disaccharide
C. | trisaccharide D. | polysaccharide
119

Oxidation of glucose in presence of bromine water gives




A. | fructose B. | Acetic acid

C. | Gluconic acid D. [ None of them

Strong oxidation of glucose in presence of HNO3 gives

120 A. | Gluconic acid B. | Saccharic acid

C. | Acetic acid D. | Carbon dioxide and water

Starch on hydrolysis in presence of mineral acid gives

A. | dextrin B. [ glucose
C. | Acetic acid D. | Gluconic acid
121
Hydrolysis of starch in presence of diastase in malt extract gives
A. | glucose B. [ maltose
C. | fructose D. | None of them
Group with multiple bonds called
122 | | A. | chromophors B. | auxochromes
C. | chromogen D. | None of them
Group with multiple bonds called
123 A. | chromophors B. | auxochromes
C. | chromogen D. | None of them
The compound containing the chromophoric group is called
124 | | A. | chromophors B. | auxochromes
C. | chromogen D. [ None of them
Sodium or potassium salts of fatty acids are called
125 A. [ proteins B. | terpenes

C. | carbohydrates D. | soaps

126 Soap is




A. | a mixture of salts of fatty B. | A salt of glycerol
acids
C. | A mixture of ethers D. | A mixture of aromatic ethers

Which of the following is a chromophore?

127 A. | -NO2 B. | -SOsH

C. | -OH D. | -COOH

Which of the following is an auxochrome?
128 A. -N=0 B. -NO2

C. | -N=N- D. | -OH

The water solubility of dyes can be increased by introducing
129 A. | SO3Na groups B. | COOH groups

C. | -OH groups D. [ All of these

Which dyes become linked to the fibre by chemical reaction?
130 | | A. | Acid dyes B. | Direct dyes

C. | Disperse dyes D. | None of them

are used In shaving creams and liqid soaps

131 Potassium salt B. [ Sodium salt

C. | Both (A) &(B) D. | None of them

A higher proportion of salts of saturated acid gives
132 | | A. | Hard soaps B. | Soft soap

C. | Both (A) &(B) D. | None of them

A higher proportion of salts of unsaturated acid gives
133 A. | Hard soaps B. | Soft soap

C. | Both (A) & (B) D. | None of them




process in which -NO2 group is introduced in the molecule of organic compound

134 A. | Nitration B. | sulphonation

C. | Halogenation D. | None of them

process in which —SO3H group is introduced in the molecule of organic compound
135 A. | Nitration B. | sulphonation

C. | Halogenation D. [ None of them

process in which -NH2 group is introduced in the molecule of organic compound
136 A. | sulphonation B. | Amination

C. | Halogenation D. | None of them

process in which -Cl,-Br,-1,-F grops can be introduced in the molecule of organic

compound
137 A. B. | Amination

Halogenation

C. | sulphonation D. [ None of them

Nitration of toluene gives
138 A. | Trinitrio toluene B. [ Nitrobenzene

C. |Both(A)& (B) D. | None of them

Nitration of phenol gives
139 A. | Trinitrio toluene B. [ Nitrobenzene

C. | Picric acid D. [ None of them

is used as an Explosive.

140 Nitrobenzene B. [ Trinitrio toluene

Both (A) & (B) D. | None of them
141

142




